
TWINJAMMER PRICE LIST MAY 2010 
 
PART #  DESCRIPTION PRICE 
 
5005 TWINJAMMER – STOCK TIRES, std sail $2625.00 
5006  TWINJAMMER – UNI TIRES, std sail 2675.00 
5007 TWINJAMMER – HIGH FLOAT TIRES,std sail 2675.00 
5012 SAIL ONLY all wht or std w/ blu, blk or wht luff 525.00 
 Sail with multi color panels add-                              70.00 
 Sail with custom luff/foot color add-                         95.00 
5038 BATTEN SET (specify sail purchase date) 52.00 
5028 BATTEN – TOP (fiberglass) 9.00 
5026 BATTEN #2 15.00 
5021 BATTEN #3 18.00 
5016 BATTEN #4 21.00 
5316 MAST TOP 67.00 
5311 MAST MID SECTION 295.00 
5312 MAST MID Take-down (2 pc.)                               345.00 
5306  MAST BASE 152.00  
5332 BOOM w/POLY INSERT 111.00 
5330 BOOM FORK ONLY 15.00 
5335 INSERT, PLASTIC FOR BOOM FORK 10.00 
5096 STRUT- MAST SUPPORT 112.00 
5150 YOKE ASSEMBLY COMPLETE 48.00 
5155 YOKE w/ PAD ONLY 37.00 
5160 YOKE PAD 2.00 
5078 AXLE (rear) REPLACEMENT COMPLETE 347.00 
5077 AXLE TUBE ASSEMBLY ONLY 232.00 
5092 SIDE RAIL 148.00 
5398 GOOSENECK 145.00 
3931 NOSE PLATE 12.00 
5380  FORK – FRONT, BARE 80.00 
5381 FRONT FORK ASSEMBLY COMPLETE 110.00 
5106 STEERING TEE ASSEMBLY COMPLETE 52.00 
5126 STEERING ROD LESS TIP 45.00 
5130 STEERING ROD TIP – THREADED 18.00 
5066 STRAP – STEERING TEE 17.00 
5101 TRAMPOLINE only 74.00 
5056 SEAT FABRIC 96.00 
5059 SEAT TENSION BAR 21.00 
5061 CROSS TUBE – SEAT FRONT 42.00 
5062 SEAT SIDE BRACE 27.00 
5063 SEAT SIDE TUBE (specify L or R) 47.00 
5064 SEAT BACK CROSS TUBE 94.00 
5051 SEAT BELT ASSEMBLY 55.00 
5333 VEE TUBE – DOWN HAUL 40.00 
5334 CABLE – DOWN HAUL 15.00 
5350 BLOCK (1 ½” single w/ eyebolt) 29.50 
5355 BLOCK (1 ½” becket w/ eyebolt) 33.75 
4035 BUSHING (1 ½” stainless) 3.00 
4040 BUSHING (1 5/8” stainless) 3.00 
4042 BUSHING (1 ¾” stainless) 3.00 
 
 BRACKETS 
3841 MAST BASE w/ PLATE 12.50 
3765 1” ALUMINUM 3.00 
3851 1 1/8” STAINLESS WRAP 8.00 
3786 AXLE / FRAME BRACKET 16.00 
3792 MAST STRUT BRACKET 14.00 
3810 STEERING BRACKET ALUMINUM 6.00 
 
 LINES 
5372 3/16" seat tensioner - per foot .70 
5371 1/8” POLYESTER (trampoline) – per foot .30 
5376 5/16” YACHT BRAID – per foot 1.50 
 
 WHEEL PARTS 
5250 WHEEL 6” ALUMINUM (less bearings) 50.00 
5255 SPACER – FRONT WHEEL 2.00 
5275 BEARING 6.00 
5276 BEARING – INSTALLED 6.50 
5280 INSERT – POLY FOR REAR AXLE SPINDLE 12.00 
 
 
 

 
PART # DESCRIPTION PRICE 
 
  TIRES 
5200 STOCK “sawtooth” 410-350x6 25.00 
5215 UNI (knobby) 530-450x6 38.00 
5205 HIGH FLOAT FRONT 13-500x6 30.00 
5210 HIGH FLOAT REAR 15-600x6 33.00 
 
 INNER TUBES 
5225 410-350x6 FITS #’s 5200 & 5205 11.00 
5230 530-450x6 FITS #’s 5215 & 5210 11.00 
 
 SADDLES 
4353 1 x ¼ x ¼ NYLON 1.00 
4352 1 x ¼ x 1/8 NYLON 1.00 
4315 1 5/8 x ¼ x 1/8 ALUMINUM 3.00 
 
 CAPS 
4096 1x.058 .50 
4095 1x.083 .50 
4116 1 ½ x.049 1.00 
4110 1 ¾ x.049 1.00 
 
 BOLTS & NUTS 
5416 U-BOLT w/ PAD (yoke) 8.00 
5418 PAD FOR U-BOLT 2.00 
5405 EYEBOLT STAINLESS ¼ x 1 5/8” 4.00 
5406 EYEBOLT STAINLESS ¼ x 2” 4.00 
5495 5/8-11 x 9 FRONT AXLE 10.00 
5490 5/8-11 x 7 ½ REAR SPINDLE 14.00 
5465 ½-20 x 3 ¼ FORK-GOOSENECK 5.00 
5445 3/8-16 x 7 STEERING TEE 4.00 
2125 ¼-28 x 1 5/8 (AN4-15A) 1.75 
2145 ¼-28 x 2 ¼ (AN4-22A) 2.00 
2153 ¼-28 x 2 3/8 (AN4-23A) 2.00 
2155 ¼-28 x 2 ½ (AN4-24A) 2.50 
2185 ¼-28 x 3 ¼ (AN4-32A) 3.00 
2190 ¼-28 x 3 ½ (AN4-34A) 5.00 
2285 ¼-28 x 2 ½ SATINLESS 3.00 
2015 NUT ¼-28 NYLOC STAINLESS .50 
2020 NUT ¼-28 NYLOC STAINLESS thin height .50 
2016 NUT ¼-20 coarse NYLOC STAINLESS .50 
2017 NUT ¼-20 coarse NYLOC STAINLESS thin .50 
5410 WING NUT 5/16-18 STAINLESS 2.00 
5422 NUT 3/8-16 NYLOC STAINLESS 1.00 
5450 NUT ½-20 NYLOC thin 1.00 
5480 NUT 5/8-11 PLATED STEEL 1.50 
 
 WASHERS 
2035 ¼ STAINLESS  .10 
2030 ¼ STAINLESS thin .10 
5414 5/16 SAE STAINLESS .10 
5412 5/16 STAR EXTERNAL TOOTH .30 
5434 3/8 SAE STAINLESS .30 
5424 3/8 FENDER STAINLESS 1 ½ OD 1.00 
5425 3/8 x ¾ x 1/8 NYLON .50   
5452 ½ STAINLESS AN960C-816 .50 
5453 ½ x ¾ x1/8 NYLON .30 
5487 5/8 STAINLESS AN960C-1016 .50 
 
 ACCESSORIES 
5365 HEXRATCHET BLOCK 80.00 
5366 BRACKET FOR HEXRATCHET BLOCK 20.00   
5368 DOWEL REINFORCED REAR AXLE               50.00 
 Big Blocks Option 2 1/4" 90.00 
 
 


	PART #  DESCRIPTION PRICE
	PART # DESCRIPTION PRICE
	WASHERS



